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(i) Express f(x) in partial fractions. [5]
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(ii) Hence show that J f(x)dx=2+1n ‘;)'
0

9709/03/0/N/06

1l +—3—-))A7L
T+ K1)

—

(/2
J(zocﬂ

AN N
(@ & - [ O ds [ s
J [Z=#i J J (e
o (aar) — du (x#) 4 3 [y
*E ('x-a-l)"
o Cauhon: (LS ﬂ?WQ/Y APM

/Q«,«/Lx-l—l )7; 3 fi&m)’_—%d\x’ = w+!
(e:w/ / J o= 1

A ETTIR I (xer)”

,‘é X+ / ~/
g
B | lafaxrr Y - ]
L=t / (%+1)
o

£y




Lo [S) = 1 —Au(L) + 3
(3 ) ¥
/@A/_E\ + 2
\3 /
2+ /5
(3/
6 ShowthatJ. ﬁdx:lnSO. (7]
DU W) eael)  ewom 0
(W4) 2 %471 = _ \
(2001) (4 2) 2%t L2
/Y - \ N dx
N, \ 2N+ X+ }
N ~ ~
Y (@x‘ A.?L — Y ?)\ Ex
ZJ 2 A+ )

7

),.,Q,,,‘(Lm-rl) — M(‘*"?—) .

(zxm (20)+1) = Am (T 1-Z)> — (\z)M (2)11) —2an (o 1—2))




20 (1) = I (9) — 24m1 + In2

M 2285 — mg +2u2

dnm [ 22sx2
\ a /

SO
Aol

_ P +3x+3 - — long dhivision —>
3 Let f(x) R et o) > \W j P’%Y‘&Ch‘ov“

(i) Express f(x) in partial fractions. [5]
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(ii) Hence show that J f(x)dx=3 —%ln 2. [4]
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The diagram shows the curve y = x° In x and its minimilm point M.
(i) Find the exact coordinates of M. [5]

(ii) Find the exact area of the shaded region bounded by the curve, the x-axis and the line x = 2. [5]
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The diagram shows the curve y = x’e 2,

(i) Find the x-coordinate of M, the maximum point of the curve. 4]

(ii) Find the area of the shaded region enclosed by the curve, the x-axis and the line x = 1, giving
your answer in terms of e. [5]
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The diagram shows the curve y = = and its maximum point M. The curve cuts the x-axis at A.
X

(i) Write down the x-coordinate of A. = 1 [1]
(ii) Find the exact coordinates of M. [5]
m——

(iii) Use integration by parts to find the exact area of the shaded region enclosed by the curve, the

x-axis and the line x = e. [5]
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o 1 (i) Express cos 0 + (1/3) sin 6 in the form Rcos(6 — o), where R > 0 and 0 < & < %n:, giving the

exact values of R and o. [3]
o in
. 2 1 1
(ii) Hence show that 5 d6 = % [4]
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